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Section 6.1

1.

Chapter Review

Find the slope and y-intercept.
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Write the following standard form equations in slope-intercept form. .
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Write the slope-intercept equations in standard form. P
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Write the following point-slope equations in slope-intercept form. ¢
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Write the following point-slope equations in
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Write the equation of each line in standard form.
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7. Determine the equation of each equation in: stendard form, slope-intercept form and point-slope form.

8.  Determine the equation of the following graphs.

Uey"?(a' ’ W

a) Hovf'?”#"’ IIM b) I

= > 4 _

- - l / m="r - = :

-’?,j h . Ve ci- ):f g:"ﬁ‘—l—l

R ot e / ¥ -7

i | Ry A /

- neva _

mlfonn ’K-‘—% +' ~0 &m form 37(“% f’ =0
slope-intercept form 25 =% —] slope-intercept form 2 "BX""
point-slope form 3 3= ~1(%X-2) pointslope form 9 +=3(%4)
Section 6.2
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9.  Write the equation of the line with the given characteristics.
s 3
a) vertical, passes through (- 2, 5) - b) horizontal, passes through (- 2, 5) - i
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10.  For each pair of equations, determine whether the lincs are parallel, perpendicular or neither parallel nor

perpendicular.
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11.  Write the equation of the line passing through the given set of points in form.
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Section 6.3 7+ [l ? )

12.  Find the slopes of lines parallel and perpendicular to the following equations.
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13.  Find the equation of the line that passes through the given point and is parallel to the given line. y [y
3 2k4) [ % h Sl
a) P(—?ici); 2x-3y=5 3‘(‘ 3(x_+) b) P(,-1) dx+ Ty ==2 _,,__3*' 7( ) J
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14.  Find the equation of the line that passes through the given point and is perpendicular to the given line.
== +2 = E -
a) P-2,4; 2x-3y=5 J°Y¥ 2 b) P4 -1 dx+Ty=—2 9H A(x-4)
Loam=3 Loam3
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15, Determine the equation of a line, mﬁm form which is parallel to the line and which goes through the
given point. ::
a) ’(’23 | i ﬁ@_);';x'r% ) (:7:?,3' a (\34: %X-f).) X3
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16. Determine the equation of a line, mgandaﬂ! form which is perpendicular to the line and which goes through
the given point.
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~ 17. The cost to print 1200 books is $11 140, and the cost to print 2000 books is $17 940, Assuming there is a linear
' relation between the, costs and the number of books printed. -

(V\ ) a) Find the cost equafion. V\ b) Find the “set up” cost of printing the books,
120\) |ll(l»D) (2000 |79‘(D) (C-' l”‘{D: 1 n- /D)OO)XD‘
o 179%0-IlTee _ -
M= Soes e - O(n-pes 2C -22250=170-20400 22C= '7’2:f_/§""°
- 6?00 C’“l ‘{'0 +227_?f\) +222500 -2
- C ;_I%Y\-(-q(?o
o) Fmd the cost of 3000 books. d) How many books can be purchased for $24740.
(=12 (3000) + 740 2= LN ta%0
~ %500 + 94D ~ 9¢o ~74°2 N1N=2 00
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